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The ____ layer contains the variety of protocols that are commonly needed in the OSI 
model.

Application

The TCP/IP model does not have ____ layer.

Session/Presentation

Question 3
In the OSI model, the _______ layer is concerned with the syntax and the semantics of 
the information transmitted.
Presentation

Question 4
The topmost layer on the OSI model is _____.
Application

Question 5
The ___ layer in the OSI model allows users on different machines to establish 
sessions between them.

Session

Question 6
The layer above the Internet layer in the TCP/IP model is called _____.
Transport

Question 7
Protocols at the physical layer of the OSI model accept frames from the datalink layer 
and generate ____ so as to transmit signals.
Voltage

Which of these layers is not part of OSI model?
Datagram

Protocols in the _____ layer accept data from the session layer and manage end-to-
end delivery of data in the OSI model.
Transport
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Question 10

The OSI model was designed to ensure that different types of equipment would all be 
____ even if built by different manufactures.
Compatible
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